Informational Report for the July 20, 2010, Board of Trustees Meeting

Classified Staff Separations

Last Name	First Name	МІ	Site	Position Title	Position #		CLPCCD Date of Hire	Effective Date
					gnations			
Chabot Col	lege							
Ray	Randi	N.	Chabot	Instructional Assistant II	2CDE01	Applied Technology and Business	8/23/2006	7/10/2010
Tsakoyias-				Children's Center Assistant				
Mendes	Vicky	nmi	Chabot	Manager	2CSS50	Children's Center	10/14/2002	7/7/2010

Informational Report for the July 20, 2010, Board of Trustees Meeting

Short-Term Appointments

				New Emp						Assign	Assign
Last Name	First Name	MI	Site	to District	Position Title	Range	Step	Salary	Division	Beg. Date	End Date
Chabot Colleg	ge										
Alvarado	Roberto	A.	Chabot	No	Student Services Specialist I	31	1	\$20.12	Financial Aid Office	7/1/2010	6/30/2011
Dauley	Hugh	Τ.	Chabot	No	Stage Technician	38	1	\$23.92	School of the Arts	7/1/2010	6/30/2011
Echeverria											
Navarrete	Barbara	M.	Chabot	Yes	Counselor Assistant I	25	1	\$17.39	Counseling	4/26/2010	6/30/2011
Hillard-Jones	Grace	M.	Chabot	No	Administrative Assistant I	28	1	\$18.71	Financial Aid Office	7/1/2010	6/30/2011
Jacques	Daniel	R.	Chabot	Yes	Laboratory Technician II	34	1	\$21.69	Science and Mathematics	7/1/2010	6/30/2011
									Applied Technology and		
Maze	Danielle	M.	Chabot	No	Instructional Assistant II	34	1	\$21.69	Business	7/1/2010	12/31/2010
					Admissions and Records						
Mendiola	Lisa	A.	Chabot	No	Assistant II	31	1	\$20.12	Admissions and Records	7/1/2010	12/12/2010
Molton	Monica	G.	Chabot	No	Counselor Assistant I	25	1	\$17.39	Counseling	4/20/2010	6/30/2011
					Admissions and Records						
Muhammad	Rizwaan	S.	Chabot	No	Assistant I	27	1	\$18.24	Admissions and Records	7/1/2010	12/12/2010
Owens	Arthur	L.	Chabot	Yes	Security Officer	37	1	\$23.36	Campus Safety	7/1/2010	6/30/2011
Paulson	Emily	A.	Chabot	No	Stage Technician	38	1	\$23.92	School of the Arts	7/1/2010	6/30/2011
Pereira	Bernardett	M.	Chabot	No	Administrative Assistant I	28	1	\$18.71	Off Campus Programs	6/24/2010	12/31/2010
Perez-Gomez	Mariana	nmi	Chabot	No	Stage Technician	38	1	\$23.92	School of the Arts	7/1/2010	6/30/2011
Rodgrigues	Emma	L.	Chabot	No	Stage Technician	38	1	\$23.92	School of the Arts	7/1/2010	6/30/2011
					Reprographic Systems						
Shira	Craig	J.	Chabot	Yes	Technician I	31	1	\$20.12	Admistrative Services	6/1/2010	6/30/2011
Warren	Andrea	L.	Chabot	No	Stage Technician	38	1	\$23.92	School of the Arts	7/1/2010	6/30/2011
Whitfield	Terema	L.	Chabot	No	Counselor Assistant I	25	1	\$17.39	Counseling	4/29/2010	6/30/2010
					Admissions and Records				_		
Wright	Gabrielle	N.	Chabot	No	Assistant I	27	1	\$18.24	Admissions and Records	7/1/2010	12/12/2010
Wright	John	D.	Chabot	No	Stage Technician	38	1	\$23.92	School of the Arts	7/1/2010	6/30/2011

Informational Report for the July 20, 2010, Board of Trustees Meeting

Short-Term Appointments

Last Name	First Name	MI	Site	New Emp to District	Position Title	Range	Step	Salary	Division	Assign Beg. Date	Assign End Date
Las Positas (College										
Bias	Jessica	V	Las Positas	No	Counselor Assistant I	25	1	\$17.39	Student Services	7/1/2010	12/31/2010
Dido	UCOSIOU	V.	Lao i Gollao		Courselor Addistant 1				Physical Education, Athletics, Health, and	77 172010	12/01/2010
Bustamante	Susan	C.	Las Positas	No	Administrative Assistant II	34	1	\$21.69	Wellness	7/1/2010	6/30/2011
Cach	David	J.	Las Positas	No	Security Officer	37	1	\$23.36	Campus Safety	7/1/2010	7/20/2010
Cach	Robert	L.	Las Positas	No	Security Officer	37	1	\$23.36	Campus Safety	7/1/2010	6/30/2011
Fiso	Christopher	M.	Las Positas	No	Security Officer	37	1	\$23.36	Campus Safety	7/1/2010	6/30/2011
Impey	Donna	J.	Las Positas	No	Instructional Assistant II	34	5	\$26.47	Student Services	7/1/2010	6/30/2011
Jensen	David	J.	Las Positas	No	Security Officer	37	1	\$23.36	Campus Safety	7/1/2010	6/30/2011
Lowery	Charles	S.	Las Positas	No	Security Officer	37	1	\$23.36	Campus Safety	7/1/2010	6/30/2011
Marcoux	Andrew	nmi	Las Positas	No	Security Officer	37	1	\$23.36	Campus Safety	7/1/2010	6/30/2011
Montanez	Luis	M.	Las Positas	No	Security Officer	37	5	\$38.49	Campus Safety	7/1/2010	6/30/2011
Morrell	Cheri	L.	Las Positas	No	Assessment Tutorial Specialist	34	1	\$21.69	Student Services	7/1/2010	6/30/2011
Mulitalo	Crystal	S.	Las Positas	No	Counselor Assistant I	25	1	\$17.39	Student Services	7/1/2010	12/31/2010
Naler	Danielle	K.	Las Positas	No	Accompanist	38	1	\$23.92	Arts and Communication	8/18/2010	5/30/2011
Peterson	Martha	L.	Las Positas	No	Accompanist	38	5	\$29.23	Arts and Communication	8/18/2010	5/30/2011
Peterson	Martha	L.	Las Positas	No	College Clerk II	24	1	\$16.93	Community Education	7/1/2010	6/30/2011
					Admissions and Records						
Rothman	Melissa	J.	Las Positas	No	Assistant I	27	1	\$18.24	Admissions and Records	7/1/2010	6/30/2011
					Admissions and Records						
Santos	Anthony	M.	Las Positas	No	Assistant I	27	1	\$18.24	Admissions and Records	7/1/2010	6/30/2011
Shah	Shameem	nmi	Las Positas	No	Assessment Tutorial Specialist	34	1	\$21.69	Student Services	7/1/2010	6/30/2011
Straight	Mary	A.	Las Positas	No	Assessment Tutorial Specialist	34	5	\$26.47	Student Services	7/1/2010	8/30/2010
Villanueva	Veronica	nmi	Las Positas	No	Security Officer	37	1	\$23.36	Campus Safety	7/1/2010	6/30/2011
Walda	Kathryn	A.	Las Positas	No	Accompanist	38	1	\$23.92	Arts and Communication	8/18/2010	5/30/2011

Informational Report for the July 20, 2010, Board of Trustees Meeting

Short-Term Appointments

				New Emp						Assign	Assign
Last Name	First Name	MI	Site	to District	Position Title	Range	Step	Salary	Division	Beg. Date	End Date
District Serv	iooo										
Chan	T-	K.	District	No	College Clerk II	24	1	\$16.93	Escilition and Diagning	6/29/2010	6/30/2011
Chan	Laura	r.	DISTRICT	INO	College Clerk II	24	1	\$10.93	Facilities and Planning	0/29/2010	0/30/2011
İ									Maintenance and		
Corley	Kristin	D.	District	No	Custodian I	31	1	\$20.12	Operations	7/1/2010	6/30/2011
1									Maintenance and		
Crotzer	Valentina	M.	District	No	Administrative Assistant II	34	1	\$21.69	Operations	7/1/2010	6/30/2011
									Information Technology		
McHugh	John	L.	District	No	Network Systems Specialist II	60	5	\$50.28	Services	7/1/2010	9/30/2010
<u> </u>					, ,						
									Maintenance and		
Munsell	Paul	D.	District	Yes	Custodian I	31	1	\$20.12	Operations	6/21/2010	6/30/2011
									Maintenance and		
Polizzi	Juliet	A.	District	No	Administrative Assistant II	34	5	\$26.47	Operations	7/1/2010	6/30/2011
									Maintenance and		
Spallinger	Linda	L.	District	Yes	Custodian I	31	1	\$20.12	Operations	6/21/2010	6/30/2011
									Information Technology		
Suhr	David	A.	District	No	Senior Programmer Analyst III	65	5	\$56.90	Services	7/1/2010	6/30/2011
Taber	Heidi	Α.	District	No	Administrative Assistant II	34	1	\$21.69	Human Resource Services	7/1/2010	12/31/2010

Informational Report for the July 20, 2010, Board of Trustees Meeting

Last Name	First Name	мі	Site	New Employee to District	Adjunct / Regular	Discipline	Term
Last Name	i ii st ivaiiie	IAII	Oile	District	Regulai	Discipline	Term
Chabot College							
Castillo	Frank	nmi	Chabot	Yes	Adjunct	Clinical Nursing	Summer 2010
Lacroix	Diane	nmi	Chabot	No	Adjunct	Physical Education	Academic Year 2010-2011
Michas	Ariane	nmi	Chabot	No	Adjunct	Anthropology	Summer 2010
Michas	Ariane	nmi	Chabot	No	Adjunct	Anthropology	Academic Year 2010-2011
Noori	Azatullah	nmi	Chabot	No	Adjunct	Political Science	Summer 2010
Noori	Azatullah	nmi	Chabot	No	Adjunct	Political Science	Academic Year 2010-2011
Rawdon	Rawdon	D.	Chabot	No	Adjunct	Music	Academic Year 2010-2011
Saeed	Ameena	A.	Chabot	No	Adjunct	Anthropology	Summer 2010
Saeed	Ameena	A.	Chabot	No	Adjunct	Anthropology	Academic Year 2010-2011
Shannon	Patricia	nmi	Chabot	No	Adjunct	Humanities	Summer 2010
Wang	Jie	nmi	Chabot	Yes	Adjunct	Clinical Nursing	Summer 2010
Las Positas College							
Agpalo	Victor	L.	Las Positas	No	Adjunct	Administration of Justice	Summer 2010
Agpalo	Victor	L.	Las Positas	No	Adjunct	Administration of Justice	Academic Year 2010-2011
Aguiar	Lawrence	F.	Las Positas	No	Adjunct	Health	Summer 2010
Alvarado	Andrea	C.	Las Positas	No	Adjunct	Counseling	Summer 2010
Alvarado	Andrea	C.	Las Positas	No	Adjunct	Counseling	Academic Year 2010-2011
Alvarado	Andrea	C.	Las Positas	No	Adjunct	Psychology-Counseling	Summer 2010
Alvarado	Andrea	C.	Las Positas	No	Adjunct	Psychology-Counseling	Academic Year 2010-2011
Austin	Victoria	L.	Las Positas	No	Adjunct	Computer Information Systems	Academic Year 2010-2011
Barnes	Janet	M.	Las Positas	No	Adjunct	Computer Information Systems	Academic Year 2010-2011
Bateson	William	D.	Las Positas	No	Adjunct	Business	Academic Year 2010-2011
Blinn	Thomas	nmi	Las Positas	No	Adjunct	Business	Academic Year 2010-2011
Blumenfeld	Howard	L.	Las Positas	No	Adjunct	Mathematics	Summer 2010
Bundy	Steven	nmi	Las Positas	No	Adjunct	Counseling	Summer 2010
Bundy	Steven	nmi	Las Positas	No	Adjunct	Counseling	Academic Year 2010-2011
Bundy	Steven	nmi	Las Positas	No	Adjunct	Psychology-Counseling	Academic Year 2010-2011
Campbell	Mary	E.	Las Positas	No	Adjunct	Music	Summer 2010
Carbone	Jill	E.	Las Positas	No	Adjunct	Biology	Summer 2010
Carter	Brazell	nmi	Las Positas	No	Adjunct	History	Academic Year 2010-2011

Informational Report for the July 20, 2010, Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Employee to District	Adjunct / Regular	Discipline	Term
	1 11 00 11011110			21011101	i roganan		10
Churchill	Peter	D.	Las Positas	No	Adjunct	Business	Academic Year 2010-2011
Colber	Valerie	H.	Las Positas	No	Adjunct	Computer Information Systems	Academic Year 2010-2011
Costello	Anthony	nmi	Las Positas	No	Adjunct	Physical Education and Athletics	Summer 2010
Craighead	Jason	B.	Las Positas	No	Adjunct	Health	Summer 2010
D'Arcy	Meadow	M.	Las Positas	No	Adjunct	Counseling	Summer 2010
D'Arcy	Meadow	M.	Las Positas	No	Adjunct	Counseling	Academic Year 2010-2011
D'Arcy	Meadow	M.	Las Positas	No	Adjunct	Psychology-Counseling	Academic Year 2010-2011
Darrin	David	K.	Las Positas	Yes	Adjunct	Administration of Justice	Spring 2010
Delrio	James	B.	Las Positas	Yes	Adjunct	Administration of Justice	Summer 2010
Delrio	James	B.	Las Positas	Yes	Adjunct	Administration of Justice	Academic Year 2010-2011
Denyer	William	W.	Las Positas	No	Adjunct	Business	Academic Year 2010-2011
Diotalevi	Dante	nmi	Las Positas	No	Adjunct	Administration of Justice	Summer 2010
Diotalevi	Dante	nmi	Las Positas	No	Adjunct	Administration of Justice	Academic Year 2010-2011
Discua	Gabriela	l.	Las Positas	No	Adjunct	Counseling	Summer 2010
Discua	Gabriela	l.	Las Positas	No	Adjunct	Counseling	Academic Year 2010-2011
Donat	Teresa	G.	Las Positas	No	Adjunct	Computer Information Systems	Academic Year 2010-2011
Doran	Caroline	J.	Las Positas	No	Adjunct	Business	Academic Year 2010-2011
Dorr	Diane	P.	Las Positas	No	Adjunct	Business	Academic Year 2010-2011
Dorr	Diane	P.	Las Positas	No	Adjunct	Computer Information Systems	Academic Year 2010-2011
Eden	Jonathan	R.	Las Positas	No	Adjunct	History	Academic Year 2010-2011
Edwards	Lucy	H.	Las Positas	No	Adjunct	Mathematics	Summer 2010
Edwards	Lucy	H.	Las Positas	No	Adjunct	Mathematics	Academic Year 2010-2011
Fitzgerald	J. Gale	nmi	Las Positas	No	Adjunct	Early Childhood Development	Academic Year 2010-2011
Foley	Stephanie	P.	Las Positas	No	Adjunct	Counseling	Summer 2010
Foley	Stephanie	P.	Las Positas	No	Adjunct	Counseling	Academic Year 2010-2011
Foley	Stephanie	P.	Las Positas	No	Adjunct	Counseling - DSPS	Summer 2010
Foley	Stephanie	P.	Las Positas	No	Adjunct	Counseling - DSPS	Academic Year 2010-2011
Galles	Steve	C.	Las Positas	No	Adjunct	Administration of Justice	Summer 2010
Galles	Steve	C.	Las Positas	No	Adjunct	Administration of Justice	Academic Year 2010-2011
Gecox	Heike	nmi	Las Positas	No	Adjunct	Counseling	Summer 2010
Gecox	Heike	nmi	Las Positas	No	Adjunct	Counseling	Academic Year 2010-2011
Gecox	Heike	nmi	Las Positas	No	Adjunct	Counseling - DSPS	Summer 2010

Informational Report for the July 20, 2010, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Employee to District	Adjunct / Regular	Discipline	Term
					3.5.5		
Gecox	Heike	nmi	Las Positas	No	Adjunct	Counseling - DSPS	Academic Year 2010-2011
Gecox	Heike	nmi	Las Positas	No	Adjunct	Psychology-Counseling	Academic Year 2010-2011
Gioia	James	J.	Las Positas	No	Regular	Counseling - DSPS	Summer 2010
Gioia	James	J.	Las Positas	No	Regular	Learning Skills	Academic Year 2010-2011
Gravino	Leslie	D.	Las Positas	No	Adjunct	Business	Academic Year 2010-2011
Hamilton	Vincent	E.	Las Positas	No	Adjunct	Counseling	Summer 2010
Hamilton	Vincent	E.	Las Positas	No	Adjunct	Counseling	Academic Year 2010-2011
Harpell	Eric	W.	Las Positas	No	Adjunct	Health Sciences	Summer 2010
Hart	Kevin	E.	Las Positas	No	Adjunct	Administration of Justice	Summer 2010
Hart	Kevin	E.	Las Positas	No	Adjunct	Administration of Justice	Academic Year 2010-2011
Hiraki	Susan	K.	Las Positas	No	Regular	Counseling - EOPS	Summer 2010
Hiraki	Susan	K.	Las Positas	No	Regular	Counseling - EOPS	Academic Year 2010-2011
Hiraki	Susan	K.	Las Positas	No	Regular	Psychology-Counseling	Academic Year 2010-2011
Jamasbi	Nooshin	nmi	Las Positas	No	Adjunct	Mathematics	Summer 2010
Jarrell	Linda	M.	Las Positas	No	Adjunct	Business	Academic Year 2010-2011
Jarrell	Linda	M.	Las Positas	No	Adjunct	Marketing	Academic Year 2010-2011
Johns	Krista	R.	Las Positas	No	Adjunct	Business	Academic Year 2010-2011
Judd	Jeffrey	R.	Las Positas	No	Adjunct	Ecology	Academic Year 2010-2011
Kang	Manjit	nmi	Las Positas	No	Adjunct	Computer Information Systems	Academic Year 2010-2011
Klask	Aimee	nmi	Las Positas	No	Adjunct	History	Academic Year 2010-2011
Kutil	Craig	A.	Las Positas	No	Regular	Mathematics	Summer 2010
Lauffer	Mary	M.	Las Positas	No	Adjunct	Business	Academic Year 2010-2011
Lee	Wendy	I.	Las Positas	No	Adjunct	Business	Academic Year 2010-2011
Leung	John	nmi	Las Positas	No	Adjunct	Computer Information Systems	Academic Year 2010-2011
Leveque	Darcy	nmi	Las Positas	No	Adjunct	Psychology	Academic Year 2010-2011
Limperopulos	Anthony	nmi	Las Positas	No	Adjunct	Psychology-Counseling	Academic Year 2010-2011
Loyd	Jean	H.	Las Positas	No	Adjunct	Counseling - Health Center	Academic Year 2010-2011
Matasol	Sandra	C.	Las Positas	No	Adjunct	Psychology-Counseling	Academic Year 2010-2011
McCamish	Michael	D.	Las Positas	No	Adjunct	Anthropology	Academic Year 2010-2011
Moore	Kristin	S.	Las Positas	No	Adjunct	Counseling	Summer 2010
Moore	Kristin	S.	Las Positas	No	Adjunct	Counseling	Academic Year 2010-2011
Moore	Kristin	S.	Las Positas	No	Adjunct	Psychology-Counseling	Academic Year 2010-2011

Informational Report for the July 20, 2010, Board of Trustees Meeting

Last Name First Name		MI	Site	New Employee to District	Adjunct / Regular	Discipline	Term
Murray	Theresa	M.	Las Positas	No	Adjunct	Anthropology	Academic Year 2010-2011
Nakano-Hiraki	Hideo	K.	Las Positas	No	Adjunct	Counseling	Summer 2010
Nakano-Hiraki	Hideo	K.	Las Positas	No	Adjunct	Counseling	Academic Year 2010-2011
Nelson	Gary	R.	Las Positas	No	Adjunct	Administration of Justice	Summer 2010
Nelson	Gary	R.	Las Positas	No	Adjunct	Administration of Justice	Academic Year 2010-2011
Nimmo	Daryn	nmi	Las Positas	No	Adjunct	Psychology-Counseling	Academic Year 2010-2011
Oeh	Karen	M.	Las Positas	No	Adjunct	Anthropology	Academic Year 2010-2011
Oliveira	Jill	R.	Las Positas	No	Adjunct	Counseling	Summer 2010
Oliveira	Jill	R.	Las Positas	No	Adjunct	Counseling	Academic Year 2010-2011
Oliveira	Jill	R.	Las Positas	No	Adjunct	Counseling - EOPS	Summer 2010
Oliveira	Jill	R.	Las Positas	No	Adjunct	Counseling - EOPS	Academic Year 2010-2011
Oliveira	Jill	R.	Las Positas	No	Adjunct	Psychology-Counseling	Academic Year 2010-2011
O'Neal	Jennifer	M.	Las Positas	No	Adjunct	Psychology	Academic Year 2010-2011
Owyoung	Brian	H.	Las Positas	No	Adjunct	Counseling - DSPS	Summer 2010
Owyoung	Brian	H.	Las Positas	No	Adjunct	Counseling - DSPS	Academic Year 2010-2011
Pentcheva	Caterina	I.	Las Positas	No	Adjunct	Computer Information Systems	Academic Year 2010-2011
Puthuff	Linda	A.	Las Positas	No	Adjunct	Administration of Justice	Summer 2010
Puthuff	Linda	A.	Las Positas	No	Adjunct	Administration of Justice	Academic Year 2010-2011
Rasmus	John	J.	Las Positas	No	Adjunct	Economics	Academic Year 2010-2011
Shadbolt	Kurt	W.	Las Positas	Yes	Adjunct	Automotive Technology	Summer 2010
Shadbolt	Kurt	W.	Las Positas	Yes	Adjunct	Automotive Technology	Academic Year 2010-2011
Shumaker	Suann	L.	Las Positas	No	Adjunct	Economics	Academic Year 2010-2011
Stein	Julie	L.	Las Positas	No	Adjunct	Business	Academic Year 2010-2011
Steinberg	Michael	J.	Las Positas	No	Adjunct	History	Academic Year 2010-2011
Stanley	Shannon	M.	Las Positas	No	Adjunct	Counseling	Summer 2010
Stanley	Shannon	M.	Las Positas	No	Adjunct	Counseling	Academic Year 2010-2011
Tafarel	Marcia	nmi	Las Positas	Yes	Adjunct	Physical Education and Athletics	Summer 2010
Tafarel	Marcia	nmi	Las Positas	Yes	Adjunct	Physical Education and Athletics	Academic Year 2010-2011
Tomlinson	Kimberly	A.	Las Positas	No	Regular	CalWORKs Coordinator	Summer 2010
Tomlinson	Kimberly	A.	Las Positas	No	Regular	CalWORKs Coordinator	Academic Year 2010-2011
Trummel	Donna	P.	Las Positas	No	Adjunct	Student Services/Learning Resources	Academic Year 2010-2011
VanBrasch	David	C.	Las Positas	No	Adjunct	Automotive	Academic Year 2010-2011

Informational Report for the July 20, 2010, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Employee to District	Adjunct / Regular	Discipline	Term
Vani	Engjellushe	nmi	Las Positas	No	Adjunct	Computer Information Systems	Academic Year 2010-2011
Van Warmerdam	Mark	G.	Las Positas	No	Adjunct	Counseling	Summer 2010
Van Warmerdam	Mark	G.	Las Positas	No	Adjunct	Counseling	Academic Year 2010-2011
Vardanega	Gail	P.	Las Positas	No	Adjunct	Computer Information Systems	Academic Year 2010-2011
VenJohn	Angela	K.	Las Positas	No	Regular	Counseling	Summer 2010
VenJohn	Angela	K.	Las Positas	No	Regular	Counseling	Academic Year 2010-2011
VenJohn	Angela	K.	Las Positas	No	Regular	Psychology-Counseling	Academic Year 2010-2011
Victoria	Gilberto	N.	Las Positas	No	Regular	Counseling	Summer 2010
Victoria	Gilberto	N.	Las Positas	No	Regular	Counseling	Academic Year 2010-2011
Victoria	Gilberto	N.	Las Positas	No	Regular	Psychology-Counseling	Academic Year 2010-2011
Welsh	Wendy	M.	Las Positas	No	Adjunct	Psychology	Academic Year 2010-2011
Wemeier	Ann	E.	Las Positas	No	Adjunct	History	Academic Year 2010-2011
Wilson	Shawn	G.	Las Positas	No	Adjunct	Administration of Justice	Summer 2010
Wilson	Shawn	G.	Las Positas	No	Adjunct	Administration of Justice	Academic Year 2010-2011
Wisely	Lindsay	A.	Las Positas	Yes	Adjunct	Physical Education and Athletics	Summer 2010
Wisely	Lindsay	A.	Las Positas	Yes	Adjunct	Physical Education and Athletics	Academic Year 2010-2011
Yap	Eric	nmi	Las Positas	No	Adjunct	Business	Academic Year 2010-2011
Zingg	Barbara	C.	Las Positas	No	Adjunct	Health Sciences	Summer 2010

Informational Report for the July 20, 2010, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Department	Pay Type	Pay Rate	Max. Hours	Maximum Amount	•	Assign End Date
Chabot Col	lege											
Adams- Bailey	Tracey	C.	Chabot	No	Sports trainer for the Summer Youth Sports Program	Special Programs	Flat Rate	\$1,800.00	20/week	\$1,800.00	7/6/2010	7/30/2010
Andrade	Deverie	J.	Chabot	No	Audience services manager for the Performing Arts Center	School of the Arts	Hourly	\$23.00	400	\$9,200.00	7/1/2010	6/30/2011
Arent	Jacques	L.	Chabot	No	Sign language interpreter	Disabled Student Resource Center	Hourly	\$40.00	NA	NA	7/1/2010	6/30/2011
Autrey	Mari	nmi	Chabot	No	Audience services specialist for the Performing Arts Center	School of the Arts	Hourly	\$18.00	300	\$5,400.00	7/1/2010	6/30/2011
Bonino	Sarah	A.	Chabot	No	Lifeguard for the Summer Youth Sports Program	Special Programs Disabled Student	Flat Rate	\$1,200.00	20/week	\$1,200.00	7/6/2010	7/30/2010
Brooks	Kwenu	M.	Chabot	No	Sign language interpreter	Resource Center Disabled Student	Hourly	\$40.00	NA	NA	7/1/2010	6/30/2011
Chapman	Jennifer	M.	Chabot	No	Sign language interpreter Lifeguard for the Summer	Resource Center	Hourly Flat	\$35.00	NA	NA	7/1/2010	6/30/2011
Christenson	Joel	G.	Chabot	No	Youth Sports Program	Special Programs Disabled Student	Rate	\$1,200.00	20/week	\$1,200.00	7/6/2010	7/30/2010
Colo'n	Leslie	S.	Chabot	No	Sign language interpreter Audience services specialist	Resource Center	Hourly	\$40.00	NA	NA	7/1/2010	6/30/2011
Cooney	John	T.	Chabot	No	for the Performing Arts Center	School of the Arts	Hourly	\$20.00	300	\$6,000.00	7/1/2010	6/30/2011
Cormier	Vanessa	nmi	Chabot	No	Manage and direct operations of the Community Action Outreach to Infants program	Children's Center	Flat Rate	\$7,500.00	150	\$7,500.00	1/5/2010	6/30/2010
Davin	Anthony	N.	Chabot	No	Sign language interpreter	Disabled Student Resource Center	Hourly	\$40.00	NA	NA	7/1/2010	6/30/2011

Informational Report for the July 20, 2010, Board of Trustees Meeting

	First			New Emp			Pay		Max.	Maximum	Assign	Assign
Last Name	Name	MI	Site	to District	Duties	Department	Type	Pay Rate	Hours	Amount	Beg. Date	End Date
					Audience services specialist							
Duncan-					for the Performing Arts							
Lindsey	Celestine	nmi	Chabot	No	Center	School of the Arts	Hourly	\$17.00	200	\$3,400.00	7/1/2010	6/30/2011
						Disabled Student						
Farley	Samuel	E.	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$35.00	NA	NA	7/1/2010	6/30/2011
						Disabled Student						
Ferrell	Sarah	S.	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$35.00	NA	NA	7/1/2010	6/30/2011
					Steno-captioner for hearing	Disabled Student						
Flippin	Marilynn	A.	Chabot	No	impaired students	Resource Center	Hourly	\$32.00	NA	NA	7/1/2010	6/30/2011
					Lifeguard for the Summer		Flat					
Gerst	Nicolas	T.	Chabot	No	Youth Sports Program	Special Programs	Rate	\$1,200.00	20/week	\$1,200.00	7/6/2010	7/30/2010
					Steno-captioner for hearing	Disabled Student						
Goekler	Sarah	L.	Chabot	No	impaired students	Resource Center	Hourly	\$32.00	NA	NA	7/1/2010	6/30/2011
						Disabled Student						
Green	Debbie	A.	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$40.00	NA	NA	7/1/2010	6/30/2011
					Lifeguard for the Summer		Flat					
Greer	Margaret	R.	Chabot	No	Youth Sports Program	Special Programs	Rate	\$1,200.00	20/week	\$1,200.00	7/6/2010	7/30/2010
						Disabled Student						
Hawkins	Susan	A.	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$40.00	NA	NA	7/1/2010	6/30/2011
					Audience services specialist							
					for the Performing Arts							
Kollias	Patricia	D.	Chabot	No	Center	School of the Arts	Hourly	\$16.00	350	\$5,600.00	7/1/2010	6/30/2011
						Disabled Student						
Koski	Sandra	C.	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$30.00	NA	NA	7/1/2010	6/30/2011
						Disabled Student						
Lambert	Marylouise	nmi	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$40.00	NA	NA	7/1/2010	6/30/2011
						Disabled Student						
Lemke	Debra	D.	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$30.00	NA	NA	7/1/2010	6/30/2011
						Disabled Student						
Lemke	Palladin	M.	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$35.00	NA	NA	7/1/2010	6/30/2011
						Disabled Student						
Lentz	Maryellen	nmi	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$40.00	NA	NA	7/1/2010	6/30/2011

Informational Report for the July 20, 2010, Board of Trustees Meeting

Loot Name	First Name	NA.	Site	New Emp	Duties	Department	Pay	Day Data	Max.	Maximum		Assign
Last Name	iname	IVII	Site	to District	Duties	Department	Туре	Pay Rate	Hours	Amount	Beg. Date	End Date
						Disabled Student						
Magdaleno	Joel	M.	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$40.00	NA	NA	7/1/2010	6/30/2011
agaa.ee			0.10.001		o.g. ianguage interpreter	Disabled Student		V 10100			.,.,	0,00,20
Manzo	Melinda	nmi	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$40.00	NA	NA	7/1/2010	6/30/2011
Markakis-					0 0 0 1	Disabled Student		·				
Pagano	Michelle	E.	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$40.00	NA	NA	7/1/2010	6/30/2011
						Disabled Student						
Mellenger	Mark	E.	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$35.00	NA	NA	7/1/2010	6/30/2011
						Disabled Student						
Merritt	Monique	M.	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$40.00	NA	NA	7/1/2010	6/30/2011
					Steno-captioner for hearing	Disabled Student						
Moore	Rachel	M.	Chabot	No	impaired students	Resource Center	Hourly	\$32.00	NA	NA	7/1/2010	6/30/2011
					Provide professional support							
					to Fire Technology students	Applied						
					and determine actions to	Technology and						
Pastore	Mary	E.	Chabot	No	improve student performance		Hourly	\$75.00	10/month	\$8,250.00	8/16/2010	6/30/2011
						Disabled Student						
Powell	Charlene	nmi	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$40.00	NA	NA	7/1/2010	6/30/2011
					Audience services specialist							
					for the Performing Arts					_		
Pratt	Roberta	F.	Chabot	No	Center	School of the Arts	Hourly	\$16.00	200	\$3,200.00	7/1/2010	6/30/2011
					Provide television studio	Arts and						
Sarkar	Sujoy	K.	Chabot	No	professional services	Humanities	Hourly	\$25.00	20/week	\$13,000.00	5/3/2010	10/30/2010
						Disabled Student						
Simbra	Tanya	H.	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$30.00	NA	NA	7/1/2010	6/30/2011
						Disabled Student						
Vidal	Brandon	R.	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$35.00	NA	NA	7/1/2010	6/30/2011
						Disabled Student						
White	Alan	C.	Chabot	No	Sign language interpreter	Resource Center	Hourly	\$35.00	NA	NA	7/1/2010	6/30/2011
					Steno-captioner for hearing	Disabled Student		A				
Yano	Nancy	C.	Chabot	No	impaired students	Resource Center	Hourly	\$32.00	NA	NA	7/1/2010	6/30/2011

Informational Report for the July 20, 2010, Board of Trustees Meeting

	First			New Emp		_	Pay		Max.	Maximum	•	Assign
Last Name	Name	MI	Site	to District	Duties	Department	Туре	Pay Rate	Hours	Amount	Beg. Date	End Date
Chabot Coll	lege Comm	unity	Education									
	J				Community education							
					instructor to teach flash							
					animation to Kids on Campus	Community						
Arnaiz	Jennifer	M.	Chabot	No	students	Education	Hourly	\$25.00	27	\$675.00	7/1/2010	7/30/2010
					Community education	Community						
Bartlett	Luveda	M.	Chabot	No	assistant for guitar classes	Education	Hourly	\$15.00	75	\$1,125.00	7/1/2010	6/30/2011
					Community education							
					instructor to teach guitar	Community						
Brill	Bruce	nmi	Chabot	No	classes	Education	Hourly	\$45.00	75	\$3,375.00	7/1/2010	6/30/2011
					Community education camp	Community						
Casareno	Justin	D.	Chabot	Yes	counselor	Education	Hourly	\$10.00	195	\$1,950.00	6/21/2010	6/30/2011
					Camp counselor for Kids on	Community						
Chowenhill	Richard	nmi	Chabot	No	Campus	Education	Hourly	\$11.50	195	\$2,242.50	6/15/2010	8/30/2010
					Community education							
					instructor to teach Science to	•						
Dave	Timothy	A.	Chabot	No	Kids on Campus students	Education	Hourly	\$45.00	40	\$1,800.00	6/21/2010	8/30/2010
					Community education							
						Community				•		
DeGuzman	Rudolfo	E.	Chabot	No	Do classes	Education	Hourly	\$25.00	17	\$425.00	6/29/2010	6/30/2011
					Community education							
		١.	0		instructor to teach dance	Community		4.	- 4	A	=/4/0040	0/00/00/0
DeLeon	Emerlita	A.	Chabot	No	classes	Education	Hourly	\$45.00	24	\$1,080.00	7/1/2010	8/30/2010
					Community advanting	O it						
E1.1.	12-11-2	_	01 -1 -1		Community education	Community	11.	#05.00	47.5	# 407.50	0/00/0040	7/40/0040
Eisler	Katherine	E.	Chabot	No	instructor to teach art classes	Education	Hourly	\$25.00	17.5	\$437.50	6/28/2010	7/10/2010
					Community education	Company unity	Dor					
□ cont	Caral		Chahat	Nie	instructor to teach instant	Community	Per	#20.00	0.4		0/00/0040	7/20/2042
Faust	Carol	nmı	Chabot	No	piano classes	Education	Student	\$20.00	34	\$68U.UU	6/26/2010	7/30/2010
Corpords-	lon		Chahat	No	Camp counselor for Kids on	Community	Hourby	¢10.00	105	¢4 050 00	6/04/0040	0/24/2010
Fernandez	Jon	l.	Chabot	No	Campus	Education	Hourly	\$10.00	195	Φ1,95U.UU	6/21/2010	0/31/2010

Informational Report for the July 20, 2010, Board of Trustees Meeting

	First			New Emp			Pay		Max.	Maximum	Assign	Assign
Last Name	Name	MI	Site	to District	Duties	Department	Туре	Pay Rate	Hours	Amount	Beg. Date	End Date
					Community education	_						
					instructor to teach Spanish	Community				_		
Ferrer	Susana	B.	Chabot	No	and culture classes	Education	Hourly	\$25.00	35	\$875.00	6/21/2010	8/30/2010
					Community education							
					instructor to teach Spanish	Community				_		
Ferrer	Susana	B.	Chabot	No	classes	Education	Hourly	\$35.00	12	\$420.00	6/21/2010	8/17/2010
					Community education							
					instructor to teach drawing	Community						
Fitzpatrick	Jessica	D.	Chabot	Yes	classes	Education	Hourly	\$20.00	18	\$360.00	6/21/2010	6/30/2011
					Community education							
						Community						
Gipson	Samantha	L.	Chabot	No	for kids	Education	Hourly	\$20.00	37.5	\$750.00	6/21/2010	6/30/2011
					Community education							
					instructor to teach swimming	Community						
Greer	Robert	S.	Chabot	No	classes	Education	Hourly	\$25.00	72	\$1,800.00	7/1/2010	6/30/2011
					Community education							
					instructor to teach swimming	Community						
Hamilton	Neal	A.	Chabot	No	classes	Education	Hourly	\$25.00	25	\$625.00	7/1/2010	6/30/2011
					Community education							
					instructor to teach drama, art,	Community						
Haney	Victoria	A.	Chabot	No	and music classes	Education	Hourly	\$25.00	250	\$6,250.00	6/21/2010	8/30/2010
					Community education							
					instructor to teach sign							
					language to Kids on Campus	Community						
Harris	Tessa	K.	Chabot	No	students	Education	Hourly	\$25.00	20	\$500.00	6/21/2010	8/30/2010
					Community education							
					instructor to teach Language							
					Arts and Math to Kids on	Community						
Hirstein	Katie	S.	Chabot	No	Campus students	Education	Hourly	\$35.00	79	\$2,765.00	6/28/2010	8/30/2010

Informational Report for the July 20, 2010, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp	Duties	Department	Pay Type	Pay Rate	Max. Hours	Maximum Amount	•	Assign End Date
						-						
<u> </u>												
					Community education							
					instructor to teach sports to	Community						
Jackson	James	L.	Chabot	No	Kids on Campus students	Education	Hourly	\$25.00	30	\$750.00	6/28/2010	8/31/2010
I					Community education							
					instructor to teach belly	Community	Per					
Karpeles	Rachelle	M.	Chabot	No	dancing classes	Education	Student	\$30.00	50	\$1,500.00	7/1/2010	6/30/2011
					Community education							
					instructor to teach drumming	Community						
Kaye	Susan	R.	Chabot	No	classes	Education	Hourly	\$25.00	10	\$250.00	6/21/2010	8/30/2010
-					Community education							
					instructor to teach art and	Community						
Kolm	Brian	M.	Chabot	Yes	cartooning classes	Education	Hourly	\$30.00	26	\$780.00	7/6/2010	6/30/2011
					Community education							
					instructor to teach swimming	Community						
Kubicki	Jenny	nmi	Chabot	No	classes	Education	Hourly	\$25.00	350	\$8,750.00	7/1/2010	6/30/2011
	,				Community education							
					instructor to teach cooking	Community						
Martinez	Eliana	R.	Chabot	No	classes	Education	Hourly	\$35.00	10	\$350.00	7/19/2010	7/30/2010
					Community education		,			*	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
					instructor to teach piano and	Community						
Nelson	Kathleen	J.	Chabot	No	singing classes	Education	Hourly	\$30.00	60	\$1,800.00	8/7/2010	6/30/2011
					Community education			*		+ 1,00000	0,1,1010	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
					instructor to teach skin care	Community						
Palmer	Angela	R.	Chabot	No	classes	Education	Hourly	\$30.00	15	\$450.00	7/14/2010	6/30/2011
	7goc.		0.10.001	- 10	Community education		1.00	ψου.σο		ψ.00.00	.,.,	0,00,2011
					instructor to teach volleyball	Community	Per					
Perry	Katherine	E.	Chabot	No	classes	Education	Student	\$30.00	20	\$600.00	6/15/2010	6/30/2011
. 5119		+	CHADOL	. 10	Camp counselor for Kids on	Community	Cladon	ψ00.00	20	Ψ000.00	5, 10,2010	5,50,2011
Powell	Megan	E.	Chabot	No	Campus	Education	Hourly	\$10.00	200	\$2,000,00	6/21/2010	8/9/2010
I OWEII	iviegan	<u> </u>	Chabot	INU	Campus	Luucation	riourry	ψ10.00	200	ΨΖ,000.00	0/21/2010	0/3/2010

Informational Report for the July 20, 2010, Board of Trustees Meeting

	First			New Emp			Pay		Max.	Maximum	Assign	Assign
Last Name	Name	MI	Site	to District	Duties	Department	Туре	Pay Rate	Hours	Amount	Beg. Date	End Date
					Community advantion							
					Community education	Camana unitu						
	D		01	N. 1.		Community		# 45.00	0.4	#4.005.00	7/4/0040	0/00/0044
Queyrel	Donald	C.	Chabot	No	classes	Education	Hourly	\$45.00	91	\$4,095.00	7/1/2010	6/30/2011
					Community education							
					instructor to teach sewing	Community						
Ragbotra	Kamal	nmi	Chabot	No	classes	Education	Hourly	\$25.00	30	\$750.00	6/28/2010	8/31/2010
					Community education							
					instructor to teach sewing for	Community						
Ragbotra	Kamal	nmi	Chabot	No	adults	Education	Hourly	\$35.00	60	\$2,100.00	7/10/2010	6/30/2011
					Community education							
					instructor to teach Language							
					Arts to Kids on Campus	Community						
Romero	Angela	C.	Chabot	No	students	Education	Hourly	\$35.00	30	\$1,050.00	7/6/2010	7/30/2010
					Community education					•		
					instructor to teach volleyball	Community	Per					
Sammons	Amber	R.	Chabot	No	classes	Education	Student	\$32.50	20	\$650.00	7/1/2010	6/30/2011
					Plan, market, and implement					· · · · · · · · · · · · · · · · · · ·		
					Community Education's	Community						
Sannebeck	Daniel	Α.	Chabot	No	summer camp	Education	Hourly	\$14.00	10	\$140.00	7/1/2010	8/31/2010
Garmosock	Danie.		Chabot		Senior camp counselor for	Community	1.00y	Ψ1.1100		ψσ.σσ	77.720.0	0,01,2010
Sannebeck	Daniel	Α.	Chabot	No	Kids on Campus	Education	Hourly	\$20.00	185	\$3,700,00	6/21/2010	8/31/2010
Carmobook	Barnor	,	Chabot	110	Community education	Ladodilon	ricarry	Ψ20.00	100	Ψο, ι σσ.σσ	0/21/2010	0/01/2010
					instructor to teach Math and							
					Language Arts to Kids on	Community						
Santiago	Emily	E.	Chabot	No	Campus students	Education	Hourly	\$35.00	75	\$2,625.00	7/6/2010	7/30/2010
Sarillago	Elliny	Е.	Chabot	INO		Education	riouriy	φ35.00	75	\$2,025.00	7/0/2010	1/30/2010
					Community education	Community						
Channan	\	Ь	Chahat	Nia	instructor to teach garage	Community	I I a contro	¢45.00	40	#450.00	0/04/0040	0/24/2040
Shannon	William	R.	Chabot	No	band classes	Education	Hourly	\$45.00	10	\$450.00	6/21/2010	8/31/2010
	.		01 1 1	.,	Community education camp	Community		# 40.65	40-	# 4 # 5 * * * * * * * * * *	0/04/0040	0/00/004 :
Shutes	Nicholas	K.	Chabot	Yes	counselor	Education	Hourly	\$10.00	195	\$1,950.00	6/21/2010	6/30/2011

Informational Report for the July 20, 2010, Board of Trustees Meeting

	First			New Emp			Pay		Max.	Maximum	Assign	Assign
Last Name	Name	МІ	Site	to District	Duties	Department	Туре	Pay Rate	Hours		Beg. Date	_
					Community education							
					instructor to teach pole	Community						
Singh	Simranjeet	M.	Chabot	No	vaulting classes	Education	Hourly	\$20.00	18	\$360.00	6/8/2010	6/30/2011
					Community education							
					instructor to teach wine	Community						
Wood	Royce	A.	Chabot	No	making classes	Education	Hourly	\$45.00	18	\$810.00	7/31/2010	6/30/2011
Las Positas	s College											
					Manage the Faculty Inquiry							
					Network grant							
					budget/financial paperwork							
					and handle logistics for	English	Flat					
Ahre	Cynthia	A.	Las Positas	No	workshops	Department	Rate	\$2,400.00	NA	\$2,400.00	1/19/2010	6/30/2010
					Manage the Tri-Valley One							
					Stop Center including fiscal							
					management, staff							
					supervision, Workforce							
					Investment Act coordination,	Tri-Valley One						
Alves	John	D.	Las Positas	No	and case management	Stop	Monthly	\$5,500.00	36/week	\$66,000.00	7/1/2010	6/30/2011
					Support the operations of the	Tri-Valley One						
Donovan	Patricia	A.	Las Positas	No	Workforce Investment Act	Stop	Monthly	\$5,200.00	40/week	\$62,400.00	7/1/2010	6/30/2011
					Provide assistance with the			, , , , , , , , , , , , , , , , , , , ,		+ - ,		
					County's Workforce							
					Investment Act case							
					management including							
					career counseling, eligibility							
					paperwork, follow-up, and	Tri-Valley One						
Gecox	Heike	nmi	Las Positas	No	workshops	Stop	Monthly	\$5,000.00	40/week	\$60,000.00	7/1/2010	6/30/2011

Informational Report for the July 20, 2010, Board of Trustees Meeting

	First			New Emp			Pay		Max.	Maximum	Assign	Assign
Last Name	Name	МІ	Site	to District	Duties	Department	Туре	Pay Rate	Hours		Beg. Date	
						-						
					Provide assistance with the							
					County's Workforce							
					Investment Act case							
					management including							
					career counseling, eligibility							
					paperwork, follow-up, and	Tri-Valley One		•				
Hirashiki	Abby	K.	Las Positas	No	workshops	Stop	Hourly	\$35.00	20/week	\$36,400.00	7/1/2010	6/30/2011
					A saist with incoming at along							
lana na c	Danna		Los Dositos	Na	Assist with incoming students	Student Services	Hourby	\$27.50	200	ФЕ <u>БОО</u> ОО	7/4/0040	0/20/2011
Impey	Donna	J.	Las Positas	INO	and special projects	Business,	Hourly	\$27.50	200	\$5,500.00	7/1/2010	6/30/2011
						Computing, and						
					Provide automotive training	Applied						
Johnson	Terry	K.	Las Positas	No	for General Motors	Technology	Hourly	\$53.00	120	\$6,360.00	7/1/2010	6/30/2011
301113011	TOTTY	11.	Las i Ositas	140	Tor Serioral Motors	Math, Science,	riourry	φοσ.σσ	120	φο,οσο.σο	77172010	0/30/2011
					Provide skills evaluation for	Engineering, and						
Logan	Andrew	D.	Las Positas	No	fire service technology	Public Safety	Hourly	\$15.00	200	\$3.000.00	6/10/2010	6/30/2011
9					Collect, organize, and		,			+-,	0, 10, 2010	
					analyze data and materials							
					relevant to the English Basic							
					Skills Program for the Faculty	English	Flat					
Machuga	Helen	M.	Las Positas	No	Inquiry Network	Department	Rate	\$1,300.00	NA	\$1,300.00	1/19/2010	6/30/2010
					Provide wellness							
					coordination by aiding							
					students in nutrition,	Student Health						
Manning	Donna	M.	Las Positas	No	exercise, and mind/body	Center	Hourly	\$40.00	3.5/week	\$7,280.00	7/1/2010	6/30/2011

Informational Report for the July 20, 2010, Board of Trustees Meeting

	First			New Emp			Pay		Max.	Maximum Assi	gn	Assign
Last Name	Name	MI	Site	to District	Duties	Department	Туре	Pay Rate	Hours	Amount Beg.	Date	End Date
					Provide employment							
					development and placement							
					services for individuals with							
					disabilities *Increase maximum hours to							
					40/week and extend end							
					date from previously							
McKee	Audrey	R.	Las Positas	No	approved action	Student Services	Hourly	\$26.89	40/week	\$34,419.20 5/18	3/2010	12/31/2010
					Support the operations of the	Tri Valloy Opo						
Mirande	Noreen	NA	Las Positas	No	Workforce Investment Act	Stop	Monthly	\$3 200 00	40/wook	\$38,400.00 7/1/2	010	6/30/2011
Willande	Norcen	IVI.	Las i Ositas	INO	American Recovery and	Оюр	IVIOTITITY	ψ0,200.00	40/ WCCK	ψ30,400.00 77172	.010	0/30/2011
					Reinvestment Act program							
Montalvo	Debra	J.	Las Positas	No	assistant	Student Services	Hourly	\$28.90	40/week	\$30,056.00 7/1/2	2010	12/31/2010
					Provide assistance with the							
					County's Workforce							
					Investment Act case							
					management including							
					career counseling, eligibility							
. .	14.1.1				paperwork, follow-up, and	Tri-Valley One		**	0.47	* 4 • • • • • • • • • • • • • • • • • •		0/00/0044
Moore	Kristin	S.	Las Positas	No	workshops	Stop	Monthly	\$3,650.00	24/week	\$43,800.00 7/1/2	2010	6/30/2011
Nabla	Dava		Las Positas	Na	Cian language internactor	Disabled Student Resource Center	l lacember	ቀ ን፫ <u></u>	200	¢40 500 00 7/4/0	040	6/30/2011
Noble	Dora	nm	Las Positas	INO	Sign language interpreter	Resource Center	Hourly	\$35.00	300	\$10,500.00 7/1/2	2010	6/30/2011
					Support the operations of the	Tri-Valley One						
Pflaster	Linda	J.	Las Positas	No	Workforce Investment Act	Stop	Monthly	\$3,700.00	36/week	\$44,400.00 7/1/2	2010	6/30/2011
					Provide mental health	Student Health						
Schulz	Nancy	nmi	Las Positas	No	counseling	Center	Monthly	\$2,016.00	NA	\$24,192.00 7/1/2	2010	6/30/2011
					Work with the Job							
					Development Incentive							
					Training Fund Grant (JDIF)		l	^				
Shipman	Vicki	nmi	Las Positas	No	to develop job skills	Health Sciences	Hourly	\$75.00	170	\$12,750.00 5/19	/2010	12/31/2010

Informational Report for the July 20, 2010, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Department	Pay Type	Pay Rate	Max. Hours	Maximum Amount	_	Assign End Date
					Support the operations of the	Tri-Valley One						
Simerman	Gerald	C.	Las Positas	No	Workforce Investment Act	Stop	Monthly	\$4,800.00	40/week	\$57,600.00	7/1/2010	6/30/2011
Las Positas	College C	omm	│ unity Educa	tion								
					Community education instructor to teach athletic	Community		* 40.00				
Costello	Anthony	J.	Las Positas	No	classes	Education	Hourly	\$40.00	50	\$2,000.00	7/1/2010	6/30/2011
0	lanas	_	Las Dasitas	Na	Community education instructor to teach athletic	Community	l la cult	#20.00	50	Φ4 F00 00	7/4/0040	0/00/0044
Craighead	Jason	B.	Las Positas	NO	Classes	Education	Hourly	\$30.00	50	\$1,500.00	7/1/2010	6/30/2011
					Community education instructor to teach travel	Community						
Deutsch	Ricky	J.	Las Positas	No	classes	Education	Hourly	\$40.00	50	\$2,000.00	7/1/2010	6/30/2011
					Community education instructor to teach language	Community						
Dunbar	Richard	B.	Las Positas	No	classes	Education	Hourly	\$40.00	50	\$2,000.00	7/1/2010	6/30/2011
Duran	Lisa	M.	Las Positas	No	Community education instructor to teach reading and writing classes	Community Education	Hourly	\$40.00	50	\$2,000.00	7/1/2010	6/30/2011
Duran	LISA	IVI.	Las Pusitas	INO	Community education	Education	riourly	φ40.00	50	φ2,000.00	7/1/2010	0/30/2011
Gruger	Candace	E.	Las Positas	No	instructor to teach music classes	Community Education	Hourly	\$40.00	50	\$2,000.00	7/1/2010	6/30/2011
Oragor	Canaacc		Las i ositas	140	Community education	Ladoation	ricarry	Ψ+0.00	00	Ψ2,000.00	77172010	0/00/2011
Krusemark	LeeAnne	nmi	Las Positas	No	instructor to teach writing and business classes	Community Education	Per Student	\$15.00	NA	NA	7/1/2010	6/30/2011
					Community education instructor to teach word	Community	Per	ψ.σ.σσ		100	1,1,2010	5,55,2511
Krusemark	LeeAnne	nmi	Las Positas	No	processing class	Education	Student	\$10.00	NA	NA	7/1/2010	6/30/2011

Informational Report for the July 20, 2010, Board of Trustees Meeting

	First		011	New Emp	_ ,,		Pay		Max.	Maximum Assign	Assign
Last Name	Name	MI	Site	to District	Duties	Department	Туре	Pay Rate	Hours	Amount Beg. Date	End Date
					Community education						
					instructor to conduct athletic	Community					
Kutil	Craig	A.	Las Positas	No	seminars and events	Education	Hourly	\$40.00	50	\$2,000.00 7/1/2010	6/30/2011
					Community education						
					instructor to teach						
. .					photography and computer	Community		# 40.00		A	
Ligon	Jack	L.	Las Positas	No	classes	Education	Hourly	\$40.00	50	\$2,000.00 7/1/2010	6/30/2011
					Community education	Community					
McKay	Katherine	nmi	Las Positas	No	instructor to teach art classes	,	Hourly	\$40.00	50	\$2,000.00 7/1/2010	6/30/2011
					Community education						
					instructor to teach career	Community					
Moran	Elaine	nmi	Las Positas	No	education classes	Education	Hourly	\$30.00	50	\$1,500.00 7/1/2010	6/30/2011
					Community education						
.	0		. 5 .		instructor to teach fencing	Community		# 40.00		Фо ооо оо т и оои о	0/00/0044
Murray	Stephen	D.	Las Positas	No	classes	Education	Hourly	\$40.00	50	\$2,000.00 7/1/2010	6/30/2011
					Community education						
					instructor to teach academic	Community					
Pabley	Vicki	E.	Las Positas	No	preparation classes	Education	Hourly	\$40.00	50	\$2,000.00 7/1/2010	6/30/2011
					Community education						
					instructor to teach skin care						
					and homemade product	Community					
Palmer	Angela	R.	Las Positas	No	classes	Education	Hourly	\$40.00	50	\$2,000.00 7/1/2010	6/30/2011
					Community advantion						
					Community education instructor to teach art,	Community					
Ragbotra	Kamal	nmi	Las Positas	No	sewing, and fashion classes	Education	Hourly	\$30.00	50	\$1,500.00 7/1/2010	6/30/2011
ragoona	Tamai	1 11 111	Las i ositas	110	Community education	Ladoution	riodity	ψου.υυ	50	ψ1,000.00 1/1/2010	5,55,2511
					instructor to teach fencing	Community					
Rheinheime	r Sophie	C.	Las Positas	No	classes	Education	Hourly	\$40.00	50	\$2,000.00 7/1/2010	6/30/2011

Informational Report for the July 20, 2010, Board of Trustees Meeting

	First			New Emp			Pay		Max.	Maximum	Assign	Assign
Last Name	Name	МІ	Site	to District	Duties	Department	Type	Pay Rate			_	End Date
					Community education							
					instructor to teach fencing	Community						
Ringener	James	W.	Las Positas	No	classes	Education	Hourly	\$40.00	50	\$2,000.00	7/1/2010	6/30/2011
					Community education			·		. ,		
					instructor to teach dance	Community	Per					
Valverde	Luis	nmi	Las Positas	No	classes	Education	Student	\$30.00	NA	NA	7/1/2010	6/30/2011
					Community education							
					instructor to teach	Community	Per					
Vlieks	Ute	nmi	Las Positas	No	horsemanship class (H106)	Education	Student	\$100.00	NA	NA	7/1/2010	6/30/2011
					Community education							
					instructor to teach	Community	Per					
Vlieks	Ute	nmi	Las Positas	No		Education	Student	\$120.00	NA	NΔ	7/1/2010	6/30/2011
VIICKS	Oic	111111	Las i Ositas	140	Tierdernariship class (111007)	Ladoution	Otadoni	Ψ120.00	11/1	1471	77172010	0/30/2011
District Ser	vices											
					Provide expertise and							
					technical assistance for							
Bailey	Beverly	F.	District	No	special projects	Chancellor's Office	Hourly	\$50.00	35/week	\$45,500.00	7/1/2010	12/31/2010
					Provide training to local area	_						
<u>_</u>					companies for safety and soft			.		4		
Buhowsky	Joseph	A.	District	No	skills	Education	Hourly	\$85.00	60	\$5,100.00	7/1/2010	6/30/2011
					Provide training to local area	COLIA Testates						
Dub avvalar	laaanh	_	District	Na	companies and OSHA	OSHA Training	l lavely.		50	#4.050.00	7/4/0040	0/20/2011
Buhowsky	Joseph	A.	District	No	Training Center students Provide training to local area	Center	Hourly	\$85.00	50	\$4,250.00	7/1/2010	6/30/2011
					companies for computer	Contract						
Donat	Teresa	G.	District	No	training	Education	Hourly	\$85.00	60	\$5,100.00	7/1/2010	6/30/2011
Donat	1 GIGSA	<u>.</u>	DISTRICT	140	u an in ig	Ladoation	libuity	ψ05.00	00	ψυ, 100.00	111/2010	0/30/2011
					Provide training to local area	Contract						
Ianniello	Raphaella	A.	District	No	companies for soft skills	Education	Hourly	\$100.00	25	\$2,500.00	7/1/2010	6/30/2011

Informational Report for the July 20, 2010, Board of Trustees Meeting

	First			New Emp			Pay		Max.	Maximum	Assign	Assign
Last Name	Name	MI	Site	to District	Duties	Department	Туре	Pay Rate	Hours	Amount	Beg. Date	End Date
Lothian	Thomas	E.	District		Provide web design, training, and support for the Hewlett Faculty Inquiry Network Provide soft skills training	Contract Education	Hourly	\$30.00	190	\$5,700.00	7/1/2010	6/30/2011
Stein	Julie	L.	District	No	services to Contract Education clients	Contract Education	Hourly	\$100.00	50	\$5,000.00	7/1/2010	6/30/2011